[REZEOLAVBRBEERE]

X oM F

BR1—2

SF4F4R18

QDEHBAE W 74T (4~6 ) 17,490 17,490
DEHEAE RIAFEH 110 110

e B T TET ST _—-L

SR AR E IR UR

A& EFHH) ZBE)

17:600

oF B4R | B | NS gRRC

TR ARNCIEE TS TSN

)
1107 (409 0
) = %
1T iE
3 1
LEAREOEES | 5
I |
EL° - | BhER
) | gho-ton?
: % LEARLABETIE&M10TH 19 -2
FE| nx =s
LA
" (AYREEAR)
E 23
E £ //0 H|lA
1 Bew W
2
"

(B 5 B & AT)



[REEEDLEVBBEEEE] % . & HR1-2

I

SH4E4H18

AASAF—(4~6R)
fRIATFHUH

16,610

e

16,610

e 4 AT e - S ey

CIRBHGA R R B IR (RA S GRT ) XBE)

5
=
18| LR
i &L | 70
| A
Rt
k-
1 ey
it: E
-
[ L 3
| T i®
te s
g EIS = T :
x| YEESEOEES | P !
W : {1 :
b I 7 )
'1& RAEEFLHEI&RMTIOTE19—-2
T8 | px =+ .
A ﬁé
GAYTE)

/70 HIH

T

| i Sudzth

%

(@5 5 & 9T)



[IREEEDLEOEREESE]

X i H OB

B1—2

| sFas4B18

e _&‘_.’:‘:}"‘ TR r.-_ni‘a-ui e B

A e e ‘::-t‘reﬁ.l‘,.-':‘p:’,; o]

@ﬁﬁﬁ%kﬁ JAMPH#$#T§1E&1§$E(4~BH) 1 33,000 33,000
DEHBEANE IRAF 2 1 110 110
33,110

E

P =i
vak | oo !
(g | A 7S . =
2E e B FE B E R
ek ESEIERFAE AR
MR | :' 5 §
F%'C £ i 3:3(0:0:0
' 3
' iR fg %
!;, ® 7 E
& || HEEEOEES '
L[| Fak
E ,1& AEBFEAH7IE&MI0OTEI1I9—2
R

“ = B
: # (TR A)
PN
o /7° H|E

En

B3 5 5 JRT)

—~



(RBEHDEVREEDE]

I

X th &R

#HE1—2

KF4FE7H1H |

!«EI!;I
bl

EZNZESD

. EZHHEE

|

Jelo

HHEHERR)

DEHBNE W H I ~9A)

1 17,490

17,490

QDEHBEAE AT 0k

1 440

440

A ZHREAHGER)

17,930

3

($h5E]

SaRE

W EEEL

|am kxS T B 15EsS

| amas9H29H

17,930

3l
e

e & Gl 5

{an

EmEE

P
-

¥ FiE[F AT [E A
= = T =
VR P 1

i'ié: BH 1107

=t

G‘IU

0 T ORTRAAC

- | BLIX
— | T 080-0017

N omA EX

LENFLME7SA10TAE19 -2

R

Gl 19480 2)

¥ oy

i

%

5}

Ff

T (DA 5 T i




U B DB E B ] ¥ 4, @ = Ft —2

FiEH Sf4E7/ 18

i
i

bl

(ZHAE]
. EHEE ' iR
@ié*#ﬁ%]&% JAMPEFEATEABUE SR (7~98)
DEHBEANE IRAFEH

| omm | xREEER)
1 33,000 33,000
1 660 660

il

33,660

ﬁ,ﬁ% et o

&1t HEAPRXIREST B I5%8S

i 4 29
“*MEQH E 33,660

==

WG FAATE R E A AL (A4 (e F ) #8E)

AN CEBAG S HER ST

=
o -

BLz
< | w7 oag-ooiT
'ﬁ{ LtEAFEDEIRMIOTE 19 -2

(53080 20)

- {40 mlE

bt

i 5 : &

(v % & L TRTT) |



|

[REZEDENBEESE]

Sf4g£10818 |

- N

B1—-2

@ﬁﬁ?ﬁ)\% HH1TER (10~128) 17,490

DEHEAE AT EH 110
o xj,f):;‘g.-

N 17,600

s -.x.'-:.:'j_‘ ;
f%. %’é W

BEE (fRik & (GRFHHA) X

17,600|

)
=
| R
a5k | o S
HE | A #rX
o |E éﬁiﬁi$1_,ﬁm%‘i
i) ' Eet il T
| E R
E @ 51 §7 40910
APy 5 %
= 7 E
7|2 o :
i|n| wARSOEES
| N fjr"afnﬁ-!unﬂ _
l 4K EERAFEFE7EH10TE19—-2

JE| sk == )

A I5

7H’ (i3 8A ) ?ﬁ,ﬁzﬂd

& He1168 [l e

Ff
= |
£
=

(v 5 B & IRFTY



[REBEZEHOEVOBRBESHE] HH1-2

it
=
I

SF4410/18

[ZHANE]

QEHBAE JAMPEF 7B (10~125) 1 33,000 . 33000

QDEHBAE RAF A i 110 | 110

33,110

i
e

)

[iﬂxf'r:]

~

UFRAANCIEET S, TR

=

%d—'

g ;

hn I =

5 Ziﬂﬂtzﬁmﬂﬁ
%

#

]: - : F b LF ﬁi: FH
HE '3 g [0 o io
{ [

5|%| TEBESLOEES |

e (2 [k :

; % AEBEEFE 7 &H10TA19-2

ﬁiﬁ mA E¥ ‘
- B
P (77’«!’?"!4152,@@% l
€ i1 0F Ml A ,%

B |
i - ;
#

(%3 & £ 3NFT) L



(RBEZHDOGVBHFTHE]

I

#x1—2

SHSF1A27H

[iﬂ_\lﬂ’é‘]

- XHFE

Eil

;-}H!ﬂf_;

=

- ZHEE(RA)

szlh’f% =HE SRR

1 60,000

60,000

60,000

RE

(Z#k] . |
(==]

AﬂlSﬁi ﬁ 27 =]

60,000

A
5

X

H X AlE

/HJ’?E

Y76\ K 23

v
i
i -
A= ra
L L 7 ran.y F L I .
b i F - — S, o —
== y ., — S y I— Y —
=/ 2 T T I J =1
] =A==
t e

B R

B 794w A v T
EFRECERZL LA

B

S8 (BH-HR)

-y o] 'ﬂ1nﬁ%j‘1

%

HRBEE

i’? y\e/\ #h ‘f“

B

%

S (BH-BR)

"-
R Q:f;-‘»*’-
&

HRBEES

TN »\%ﬂ 'ii (i)

a3 J4-1048




200F (LYY XV (MY LLIZ(Lp)S510 1AL

SHIE| B Lesl¥s I B yL iy
/dl "eu 2308 ‘WMM/ /1011 fi— 3 T —1

EH B & DHwmEy

4B RSy @

CERERY F KB

00009 Ev g v ‘v
9.81 A% [k A-dTaN-BY Y4a 3l iy
O-J7T9N-bY,
0712 0%1°2 il 1810-2199 %Y — 4 L(i4
1810-4184
0056 086 ot 90891 -£ AlfLLf—TL
H089.04-2£
086G 0662 #z WA06SL~-L 44, L—A(4
Wanesl-£
0G65‘Ge 0G8°TT B¢ ay10L08] (LY 4B 64 MNBY4s4Y

WUR LYY

C-6TH LOTEI¥) b th 714
L100-080L




[REEEDOEVBEEDE]

Eisl=! SH5E3IA11H

%Ill

X

I

#£1-2

-

0

[ZIAE]

- XHEE

s
2

Ef

SRR

DEIREEEE

FUL ALK

13,035

13,035

OEIREEER

TYBLTK

e

12,892

12,892

Ai;ﬁﬁg‘ggg—f(ﬁl&) s

25,927

BE

i)

e

100554 L R AT

T B E AT O 76 11

-1

SHMEFIA11H

e e

25927

FRURERG T

C ORRICIES RS S [, BT




158 ‘2% WHBENI0L .

126 ‘SZk WRCA0L
0 i
0 N2k
] Bk
0 J&azaG
12662 Tt
= B

6E65-8Y-GGL0 SiPges

P TLEIUWHEOO L

00068220EN

S0

HEL09

H R g mstide e
(gixdd4)

—TA 4 BS¥EH

=03
£EAR2VEHLSE TEWER

DFF

— 1,26 'Sk B3

9T ¥
M—._. w Bi1Heodse20?

hﬁﬂiﬂé

a0k ]



Uit b B E B ) ¥ H 5 =

BH1—2

SH5F1H1H

tﬂﬂu

(X HE]

| oEE

DEHBAE 7 (1~3A) 1

17,490

17,490

QEHBAE JAMPIS AT EA B R (1 ~3R) 1

33,000

33,000

QEHBEANE RAFHH 1

110

110

50,600

[EE

(X

ok

k]

e

&

5

'#PB&IQEEEST H15%82

50,600

2EE

bOREBHARS K ERZHE (RS (RFHH) 2EE

5 tiH

il 4

,,
o

nkr‘.t/\dvmli?aﬁgw,ﬁ""'ﬁims“
S N

=

&

AT s
3|%| BEESOEES | r
: & r N ' ¥
L | /@(R?}/\ T
= Pk
: ++ QB &)

= 11O mlg

S5 LRIT)




